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) AuUB 1) ANB
B A~D iv) B-A

" in a class of 50 students, 25 are joined in science club, 27 were joined in Maths club,
17 were joined in both science and maths club. How many students joined neither in
science nor in maths club?

’/ A = {x : x is a natural number, * < 16}
B = {x :xis an integer; |x] < 4)

i)  Write A and B in roster form. (Score : 2)

ii)) Find AUB, and AnB, (Score : 1)
*./i) If(x-2,y+3)=(5,2) find x and y. (Score : 1)
) IfA={-1, 1}, B={2, -5}, find AxB and B=A. (Score : 2)

8/ A={l,2,3,...9),Risarelation on A Such that R = {(x, y) : x, ye A, 2x - y = 0}
i)  Write R in roster form (Score : 1)

iij Find its domain and range (Score : 2)

6. Ifflx)=x3 g(x) =2x+ I, are two real functions find the following.
D) e i) f-g (Score : 2)
i) (F+g) ) iv) (f-g) (1) (Score : 1)

l A X A has 9 elements. Aniong them two are (=2, 0) and (0, 3). Then.
i) FindA (Score : 1)
i)  Write A XA : ~ (Score: 2)
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SRR gima) (6%3=18)
L A= {36 %S8)B={13 57 9 soctnuld ©oce IO @B NIEl06 0.
) AUR ii) ANnB
W) A-B iv) B-A
< N aEad pas any O, 25 eygled womie gamflene 27 @ydked® weim
@8iape acdmy. 17 &Siand 2 gamlleno ca.l&mmmn o)A eens” gemllelo
2RI DD ANR?
(308 : 2)
é (va0d : 1)
LD @-2.9+3)=(52) aguiad x, ¥ p0i @osmes, (Uaaod : 1)

w) A={-1, 1}, B={2, -5}, aqgu)s,  AxB, BxA ogomiicu @oemye.. (03208 : 2)

¥

-A- o {lv 21 31 """" 9}5
R={x.5:x, ye A, 2x - y = 0} ogomes




B - AJ (A-8) (B - ALAS BAB A #rl
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9{ i) Write lhwe fodlow ung itervaly ae sete i et buiider form
8) (4, 6) I LN ) ¢ (L6
) Which of the following s Correx!
a) [4.6] < (4.6)c (6]
b)  (4,6) < [4,6] < (3.6)
c)/ (4,6) ¢ (3,6) = |4, 6]

I’/A-u.’.g.h}
1) Write all subscts of A (Seore : 1)
(Score : 1)

il)  Write the power st of A
iy Powmohwﬂhsnmm'&ldhuhnhccnhsr
(Score : 1)

A (1L23) b ({(abecd)
¢) {(3,4.546,7) d ({1.2)

A={r:xeN25x55)}
B={x:xeN,3<x<?)
C={1,23,4)
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(011 3 M@ 0:l1g106 moel o afl(mevBa )0 U6 ). B30BDO a2 [lm@rsiim)o,
A ®@1OHR HaH W 62l Edleeym @ow mrlm” AOMICWORIDOW Gald ®I6Y
rUOQIOEIOD (IlMio af)SLOBMY LB 1. (VB0 : 2)

(B-=A), (A-B) uB-A),AnB, A-B, (AN B)']

) A={1,3,5,79)},B=(2 3,56} A ={2,4,6,8,10).
)  AUA' 9:06m )0
b) B’ @06my;

(a0 : 1)
(a0 : 1)

) ®6% mANIg68 OMOOULIB:68 ervg miadawd Aol )P A )b,
a) (4, 0) b) [4, 6] Gy % (35:6] (V@00 : 3)
1) @06 MM Ao aR® ?
a) [4,6] < (4,6) c (3, 6]
b) (4, 6) < [4,6)c (3, 6)
c) (4,6) c (3,6] c [4, 6]

(VE:0d : 1)

A=1{f, g h)

1) A @IS ag)g)0 et OmRI:8lo ag)Pimibs. (VB0 : 2)
1) A @es ald 6T ag)PLIo 1. | (VB0 : 1)
i) B @ies aaud e&mgldd 32 @oomnemd oems’, agyelad moay @l alee Mm@
B @:00mM @ aR® ? (VB0 : 1)
a) () 81 | b){a,b; ¢, d) |
C)IRSg. 5, 6, 7} g)Ss il eOn

A= {x:x e N, 2 <xis 5

B = {x : X e N3ttt

@isin]) onauii

1) A, B@mal g0omisd dalleiad ag)wimids. (Ves:0d : 1)

i) An(BuLC)= (AnB)u(AnC) ag)M® E@oEsMmo 0g)m  al@18000US 66 6.
o A (Mes:08 : 3)
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G ,

Jund g are two relations from A to B as in arrow diagram above.

1) Are/fand g functions? Justify your answer,
1) /| Write the relation f'in set builder form.

i) Write {x:x e A, Ax) = g(x)} in roster form.,

[3. Consider the function fx) = 2 — 3x, xe R, x> 0

1) Find /(1) and A 3)
1) I Ax) =0, find x.
1i1)  Find the range of £,

B/ A={1,2}B={1,2,3,4} C=(5,6)D={(5,6,7,8).
1) FindAxBandAxC

i)  Verify that Ax(BNC)=(AxB)n(AxC)

1)  Verify that A x Cis asubsetof BxD

L w1 v
15. f:R-R,givenby /(x)=70 if x=0
-1 if x<0
i)  Find f=5) and /{9)
ii)  Draw the graph of / | Vs

iii) Write the range of /. Lo,

(Score : 2)
(Score : 1)
(Score : 1)

(Score : 1)
(Score : 1)
(Score : 2)

(Score : 1)
(Score : 2)
(Score : 1)

(Score : 1)
(Score : 2)
(Score : 1)
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| -i;;a.rtmmﬂm% o6l afldleanim,.
)/, g eyl apoedadd @RAEMO? ag)(To) 0618 7 (rdasol : 2)
i) f agm euawo emug emiiciaud Bl @d ag) PO 4. (rfaspod : 1)
' i) {x:x e A, Ax)=gkx)) @ 800MISD 8n00alTh ag)P4®)b. (rdassof : 1)

13. fix) =2 - 3x, xeR, x> 0 agyom anoaind aimlnEMIH6 .

1) A1), A3) o S:06mys. : 1)
i)  fix) =0 epesmel@, X ag)®? : 1)
i) f e soemi £06mids:. (des:0f : 2)
|
1
14. A={1,2}B={1,2,3,4} C=(5,6} D={5,6,7, 8}. :
1) AxB,AxC agarias £:06m)sb.. (daes0d : 1)
ii) Ax(BNC)= (AxB)n(AxC) ag)Mm@ RA@OBEMO ag)(m’ n.ldlcmouﬂmp.
(rva0d : 2)
i) A x C, B * D @es queniemgosm agyma »al@ossmd ag)m al@leudwlss .
(oroaaod : 1)
A - Lt
15. f,R @ aflmyo R,Mmmsamﬁﬁmaﬁf(x)- 0 if x=0
-1 If %<0
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from 16 to 19, Each carries 6 SCOFes. (3%6=18)

Answer any 3 guestions

~

» 4.5.7)B=(2,3,57.9)
| | (Seore : V)

(Score - 1)
(Score : 1)
by (AnB) =A"VD
¢y (A-B)(ArB)=A (Score : 1)
U={x:xae N,3<x<1l}.
(Score : 1)

i)  Write U in roster form

B-A={7,10}), AnB={5}

ii)  Aand B are two subsets of U such that A-B = (4, 9],
(Score : 2)

Find Aand B.

iii) Represent U, A, B ina Venn diagram, (Score : 2)

iv)  Write A'nB'. (Score : 1)

M. Consider the function [(x) = |x] + 2.

(Score :

)  Findf(-2),/(0),/(2),/(4).

ii) Draw the graph of f(x). (Score :

iii) Write the domain and range of / (x). (Score : 2)

iv)  Write the range of the function g(x) = |x| + 3. (Score : 1)
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16 aymal 19 cuoe saaymagd  ageomleyo 3 agERaTial’ paMos agwym . 6
Wae0d allmo. (Ax6=1%)

16. Ve {5k 3 .0 I0JA={1,2.4,5,7)B=1{2,35 719}

i) AUB,ANBAB,and A-B agmicl &0em . (nfaanod : 3)

i) @oey erridleymau adiamoulls .

a) (AuUB) =A'NB (nfaanod : 1)

- -

b) (AUB)=A'UB C (miaaod : 1)

¢) (A-B)u(AnB)=A (amod : 1)

17. U={x:xe N,3<x<11}.

i) U eoomisd dafl@Iad ag)s i (rigamo® : 1)

i) A-B={4,9},B-A= {710}, AnB = {5} apsym alwaniad U alled 2
uent TR :0d @em A @io B @je. agmilad A, B gocu @:06m i@ (iaod : 2)

iii) U, A, B a1 ecumd afimemglad RGN floe) 10>, (iao® : 2)
V)  A'N B’ &06myds. (rdaamod : 1)

18, f(x) =Ix| +2 agom anedaud aidlneness:.
P ) o), 70 R B atsie. (a0 : 1)
‘ H u) S (x) o Lamd'mmﬁm;a




19,

(=33)
S X =2 - L A8e" B3 e W X
-] C
. G-2) (52
Iu’
Observe the graph of /(x).

i)  Write the value of f(—4) and f(1).
ii)  Write the domain and range of /.
iii) Define the function.
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